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                        Figures & Trends      1
Truancy from schools in England ……………………………… to the highest level for ……………………………… years. According to government figures, ……………………………… pupils are skipping school every day. Ministers say "much more" needs to be done to tackle persistent absentees -- but they stress that the ……………………………… of school time being lost because of factors such as illness ……………………………… ……………………………… With the details -- here's our Education Correspondent, Kim Catcheside:

CATCHESIDE: Despite anti truancy schemes costing ………………………………, there's been ……………………………… the amount of time pupils are taking off school without permission. Last year, the proportion of ……………………………… days missed because of unauthorised absence ………………………………………………………………. Ministers say the ……………………………… due in part to schools are taking a more rigorous approach to what they describe as the "flimsy excuses " offered by many pupils. But there's been ……………………………… ……………………………… the number of school days lost because of things like illness and term time holidays. As a result, the schools minister Jim Knight says there are ……………………………… ……………………………… children in school each day ………………………………  there were ………………………………  . Girls are more likely to take time off school than boys and white British pupils are much more likely to take time off than those from most minority ethnic groups.
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                Verb forms              2
Truancy from schools in England (to rise) ……………………….  to the highest level for ten years. According to government figures, 63-thousand pupils (to skip) ……………………….  school every day. Ministers say "much more" needs (to do) ……………………….  to tackle persistent absentees -- but they stress that the amount of school time (to lose) ……………………….  because of factors such as illness (to fall) ……………………….  significantly. With the details -- here's our Education Correspondent, Kim Catcheside:

CATCHESIDE: Despite anti truancy schemes (to cost) ……………………….  a billion pounds, there  (to be ) ……………………….  a steady rise in the amount of time pupils  (to take off) ……………………….  school without permission. Last year, the proportion of half days missed because of unauthorised absence (to go up) ……………………….  by almost a quarter. Ministers say the increases due in part to schools (to take) ……………………….  a more rigorous approach to what they describe as the "flimsy excuses " offered by many pupils. But there (to be) ……………………….  a significant reduction in the number of school days lost because of things like illness and term time holidays. As a result, the schools minister Jim Knight says there (to be) ……………………….   fifty-eight thousand more children in school each day than there (to be) ……………………….  ten years ago. Girls are more likely to take time off school than boys and white British pupils are much more likely to take time off than those from most minority ethnic groups.
